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a) 18+(−6 ,7)=18−6 ,7=11,3     b) (−51 ,6)+(−19 ,3)=−(51,6+19,3)=−70 ,9

c) −14 ,8+7 ,4=−(14 ,8−7 ,6)=(−7 ,2)  d) 36 ,25+(−48 ,75)=−(48 ,75−36 ,25)=−12,50

e) −21+(−78)=−(21+78)=−99    f)  −6 ,75+6 ,75=0

a) Ilias, Tom et Ben ont gagné la partie 1.
b) 

c) (Zoé ; Tom)    et (Ilias ; Alice ; Ben)
d) (Zoé ; Ilias ; Alice)  et (Tom ; Ben)
e) C’est Zoé !



+30+(−39 ,99)+(+15)+(−12 ,50)+(+50)+(−78 ,85)+(−4 ,50)=
[+30+(+15)+(+50)]+[(−39,99)+(−12,50)+(−78,85)+(−4,50)]=
(+95)+[−(39 ,99+12 ,50+78 ,85+4 ,50)]=(+95)+(−135,84)=−(135,84−95)=−40 ,84

 

(+67 ,35)+(−40,84)=+(67,35−40,84)=+26 ,51

Le nouveau solde d’Ugo est +26,51 €


